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VI Semester B.A./B.Sc. Examﬁgtion, September/October 2022
S (CBCS) (F+R)
(2016-17 and Onwards)
ECONOMICS
Statistics For Economists (Paper - Vi)

Time : 3 Hours Max. Marks : 100 -

Instructions : 1) Answers must be completely written either in Kannada or
- English.
2) Answer should be precise.
3) Answer of Part — A should be continuous.

PART - A

Answer any 10 sub-questions. Each sub-question carries 2 marks. (10x2=20)
CIRTRTETR 10 LOT-TINer IR, BIIROW LVT-TIrt 2 wosn.

3
1. a) Give the meaning of classification.
BNFEFTLT PRI Ve,
b) What is sampling ?
SRS O3 ?
c) Find the mode for the following data.
NS TEyosnent uaﬁse,ﬁa'#% BOROEHROWD.
20, 25, 30, 30, 30, 40, 40, 40, 50, 55
d) What do ybu mean by Central tendency ?
FeoQ, e :’Jjug DOV ?
e) Give any two differences between correlation and regression.
ABROWOR BB 0B SRS CIRTITTLR OB @@ﬁﬁ@’@ EA.
f) Find the value of range and co-efficient of range for the following data.
NS Teyosnen R =08) TAR0D :ﬁmmﬁ’ﬁ@t BOTOREBOWD.
21, 22, 26, 30, 32, 20, 18
g) What are the two methods of constructing index numbers ?
m%oﬁﬁ#?ig{ QROFRIT QTR AIRNE CIRR) ?

P.T.O.
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h) If Arithmetic Mean (X ) is 35.4 and Mode (2) is 32.1, find the value of Median (M).
@8NS FTIRO (X ) 35.4 30T wRoeF (2) 32.1 sNAn K58 (M) e
BOTO&HLE 0.

i) Name two types of Price Index.
W& RRY 08NT DTS @ﬁﬂ@a’i N

j) What is alternative hypothesis ?
TR F oD TWFOT 0TTERO ?

k) IfQ, =2, Q,=6, find the co-efficient of quartile deviation.

Q, =2, Q,= 6 =R BPFF NIoFeDd a’ﬁrbsaéddi FOWOEROA0.
[) What do you mean by tabulation ?
Tes BRENE oTTERD ?

PART -B

Answer any 4 of the following. Each question carries 5 marks. (4x5=20)
CIRFHTIR 4 TINOR 2002, B3dRomd TITE 5 wosnew.

2. Construct a Pie chart for the following data.
B0 TR 0T , T Tes.

Subjects Kannada English  Economics Commerce Accountancy
QFoned 33E QONEET UPFTR, W IR, SEoR,
Marks scored 45 35 40 45 70
TET wosNT

|

3. Calculate arithmetic mean for the follov\;ing data.
FINT TZROININ Losncse #mﬁaoﬁ;;ﬂg‘ b§ To8.
C.. 10-20 20-30 30-40 40-50 50-60 60-70 70-80
varladeicte]
f 5 4 6 9 7 4 S
CEv

4. Calculate Q,, Q,, Q, for the following data.
3¢NT TEosneri Q,, Q,, Q0D TEBEEROD.
X 4 8 12 16 20 24 28 32
F - 9 17 40 53 37 24 16
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5. Explain the various methods of collecting primary data.
T3, P08 @oéd;ﬂg{ et n] &‘Jc,mdﬁeé"wq WO,

6. Calculate Karl Pearsons co-efficient of correlation for the following data.
83 $Y50R T 0BNIN T2 F LONT R TR BRRCLIOTT MOFE CBR, FOROEBERD.

Age of Husband : 62 64 65 65 66 67 68 70
TIoD T[o)
Age of wife : 65 66 63 66 70 70 67 69

7. Explain the diﬁ.erent types of classification of data.
T80 TNE EF0EIT VG uﬁn’aﬁ?igt DWOR.
PART -C

Answer any 4 of the following. Each question carries 15 marks. (4x15=60)
3INT 0IRFTETR 4 TINeR wugos. J3o3eowd JF 15 Losnsh.

8. Calculate arithmetic mean, median and mode for the following data.
FINT TIoBNIR 03NnesS FooRD, WOT,08 WO wa—buﬁjdi BOWOLEBCD.

Marks 10-20 20-30 30-40 40-50 50-60 60-70 70-80
es08ned |

No. of students 42 38 100 84 48 36 31
DT, HFNY Fogd,

9. Calculate Fishér Price Index for the following data and find whether it satisfies
the Time Reversal Test and Factor Reversal Test.

TN DRI RO TRV LI 713, 03570 BT GBI, LT T SoRTINDRED ToE
) P LooTMRIECDL TOB O FRTRATTIODE TR BLFE ROWITI TOER.

Base year Current year
e ha0 TRE PR3 e
P 9 P, q,
A 2 20 5 15
B E 4 8 5
C 1 10 2 12
D 5 0 10 6
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Estimate the straight line trend value for the year 2015 and 2016 and graph
the trend values by using least square method.

#mgjﬁﬁr QTR BoeeE 2015 w022 2016 T 30Y Seam TFS

DRE, TTOI FWORUE FITRR.

Year : 2008 2009 2010 2011 2012 2013 2014
ot

Sales : 35 42 44 48 46 49 51
SIRTIE

BIPYT/RO, YOO

Calculate Speérman’s Rank Correlation Coefficient.

RODTTORT TR 0,08 ABROWOT TOT0T FOBILRCID.

Economics: 3 10 5 4 9 11 12 2 ‘6 7 8 1
wqﬁrmz‘é

Statistics : 5 7 6 11 8 4 3 9 1 2 12 10
za'o.s:msmﬁd

Explain the uses and limitations of statistics.
K030, TORT LVTOSRLNNFO 9B L0STFRS, VTOA.

The prices of shares of X and Y are as follows. Find out which share price is
more stable.

X &2 Y 3econd B 8 FPNT0ET. 0IRTIT JeT WIS Ed;:é ,\ffmﬁd aowd@
FORIRBOOOD.
X © 35 5B54 B2 B3 b6 58 52 50 51 49

Y : 108 107 105 105 106 107 (104 103 104 101
#




